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g 200 Mel+=¢
2 220 LAIEA >
gt 223 JIEt=+=2 (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
<=1 > 1,172,143 958,840 213,303
OsUETUHAZE BERI(HI,SAIINA dxE)(sdEaE
OHAIE) 150,000,000& * 14| 150,000
OF+ZEE8+23 (1) 45,000,000& » 14 45,000
Osd3(d=1) 230,000
Psged BFA=1 160,000,000 14! 160,000
Doalgted BFAls 70,000,000 * 14 70,000
O=SAZ MY =S (ZAICIXHRID) 35,000,000 14! 35,000
OsJIH &3l=2l 2SUHS(s=XHEN) 400,000& =14l 400
OZSHSAMSL UM SIS (SSHSAIS L)
1,250,000& 12 15,000
O MSAE L UMK A (2SS AL L)
30,000,000 * 14 30,000
OAMBugeteh & &t SH2(2st0=)
50,000,000 * 14 50,000
Ostn&il €3 WFH(ZAID) 60,000,000 * 14 60,000
OHPSE A+ (XANHSEAMLL) 1,400& ~90kg* 12 1,512
OJIEtE =¥ 200,000, 0003 » 14! 200,000
SO N (RS A T) (8 H ) 300,000, 0003 » 14! 300,000
OASTHAHEFTHAH 228 (3 A1) 55,231,950 14 55,231
224 XA =2 700,000 700,000 0
224-01 AHtAE =g 700,000 700,000 0
[ et A ] 700,000 700,000 0
< &H£z=1 > 700,000 700,000 0
OXNHHE = (F=1) 700,000,000& * 14| 700,000
300 X2 w = Al 221,312,305 214,805,415 6,506,890
310 XN g uw=2Al 221,312,305 214,805,415 6,506,890
311 XAl 221,312,305 214,805,415 6,506,890
311-01 ES W =2A 210,262,000 205,262,000 5,000,000
[ 2etsl A ] 210,262,000 205,262,000 5,000,000
< %=1 > 210,262,000 205,262,000 5,000,000
OESNEA(II= 0 &) 210,262,000, 000 14| 210,262,000
311-03 22 W2 Al 6,550,305 6,043,415 506,890
[ el A ] 6,550,305 6,043,415 506,890
< =1 > 6,550,305 6,043,415 506,890
O WAl (1= 0 & 1) 6,550,305,000& * 14! 6,550,305




300 X&) = Al
310 X2 w2 Al
311 N WA

09 i 0

Z2-2-8-5 Off &4 & E 0l At Hr&E2
311-04 2SS4 2A 4,500,000 3,500,000 1,000,000
[ Letsl A ] 4,500,000 3,500,000 1,000,000
<H£=1 > 4,500,000 0 4,500,000
OFRSHDEM(HMR) 4,500,000,000& 14! 4,500,000
400 2 WEFSEMEEES 22,000,000 22,000,000 0
420 MEEN= 22,000,000 22,000,000 0
21 H82d=s 22,000,000 22,000,000 0
421-01 MEE2H =S 22,000,000 22,000,000 0
[ Letsl A ] 22,000,000 22,000,000 0
< EH£z=1 > 22,000,000 0 22,000,000
OLBIHEEES (M) 22,000,000, 000% * 14 22,000,000
500 EX3 250,450,273 234,985,565 15,464,708
510 = 02 X=S 194,523,916 183,372,651 11,151,265
511 =08 x38 194,523,916 183,372,651 11,151,265
511-01 212X =3 165,472,096 148, 180,256 17,291,840
[ Letsl A ] 165,472,096 148,180,256 17,291,840
<SR > 629,962 485,887 144,075
ONEZAHEEAMRAH 22 83,962,000 14 83,962
OXEE NA=SXNELHH ML (MEI=RSRE A 2AHl)
462,000,000 14! 462,000
O=0sdo ¥EE SXNHLHH S (SSMIA=NELH
HHA) 84,000,000 14 84,000
< HEESEY > 16,447 2,363,974 N2,347,527
Oss0 ¢t 22FH 2 & &X 2,336,000 *14| 2,336
oggAlI=XdU S ¥2us XN 1,755,000 14 1,755
oglgre eld &4 378,000% 14 378
O=0F0 Qg & &L 570,000% 14 570
Oct2us ZA=E 2,115,000& 14| 2,115
oxzagAl =4 413,000& 14 413
O ML E H=H 8,880,000 =14 8,880
< XD > 36,344 41,105 A4,761
OX&SAH ZOUlolye XA 19,653,000 14| 19,653
OXNESALR 2828 X& 16,691,000 14| 16,691
<HESAN > 20,795 33,028 A 12,233
O&Es08 =208 22 22| 10,560,000 * 14 10,560




& 500 X3
2 510 2DPE3S
g 511 2 NEXSS (&)
Z-#-8-2 0l &t o 0 ot o HZE2
OANZF MoiEFAAE 25 X2 4,025,000 * 14| 4,025
OANZRESIeFHH WA SX= 6,210,000& %14 6,210
< FUXF D > 1,007,433 875,264 132,169
Ossog=e N9gos 29 6,000,000 14| 6,000
OMAZH(EFALE) 128,000,000 » 14 128,000
OAMA=XNSEAMEIAEZRE K& 69, 189,000 14! 69, 189
OAtell 22l At 28l X & 6,550,000 14| 6,550
OFIF=1N| 238,658,000 * 14| 238,658
Ok=o S MeE29 458,234,000 & * 14| 458,234
OXBEHNASN HSHH SHS QAT K&
100,802,000& » 14! 100,802
< ME=EX 2 > 71,537,743 55,545,378 15,992,365
OXt& X2 A (REHI AL 540,000,000 14| 540,000
OANFELAZOMNARELE Xt ALY XA 8,590,000& 14| 8,590
OXEZZ A (22t &) 1,360,000,000& » 14! 1,360,000
OXNgXadH2g ALY 188,258,000& » 14! 188,258
OJlzdas8d MASH 16,226,682,000& » 14! 16,226,682
SEAE MASH(=AAE) 552,000,000& =14 552,000
OEZAE MASH(ZHAAIL) 344,000,000& * 14| 344,000
OJI=da82E =H=0 4,776,021,000& * 14| 4,776,021
O=FHE==20H =2 160,000,000 14| 160,000
OJ=da2E nEez0 616,214,000 & 14| 616,214
OxayeILE 28U= 16,000,000 14| 16,000
Oxtael 2R 115,440,000 14| 115,440
Odltet ZH=E0 118,537,000& » 14| 118,537
OZWINZMEERSZL 22 2EU2 65,000,000 14! 65,000
O =MEEH-ZIX L3 XF 520,011,000 14 520,011
OJtArZtE = 201AHY 100,000,000 14| 100,000
OXNgASEZH (MHEHAZ) 180,000,000 * 14! 180,000
OIS SHEAY 370,000,000 14| 370,000
Ogs S8 t2egs 48X3 38,473,000 14! 38,473
OsSOHEZMHQ F=EIHEZALSY 3,800,000& %14 3,800
OX A2l MHI A S THAF 1,776,608,000& » 141 1,776,608
OXNEAZ AHIAE ALY 2| 4,500,000& » 14 4,500




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
OXoel ozdl XA 166, 196,0003 * 14| 166, 196
OJI=&=¢ Xz 421,194,000 14| 421,194
OHOel XA sty 9,590,000& =14 9,590
OFMe SEac 2,840,000& » 14| 2,840
O EXJ17 u: 10,000, 0003 * 14 10,000
OFME =&tdl X2 2,100,000& 14| 2,100
OHMH= s 2,616,639,0003 =14l 2,616,639
EEHMY dH=A HElA K& 2,000,000& 14| 2,000
OZM=X Xl X 47,344,000& =14 47,344
O =<0l X& 180, 123,000 14| 180, 123
OPJESL-=Ru =, 34,209,068,000& » 14 34,209,068
OBZ2Y AZZO0Hel tOtAF TIHA 88,043,000 14 88,043
OZMHOtE MEXZ ALY 473,289,000 14| 473,289
OHM Atzl2sX& 2,458,994,000& * 14! 2,458,994
OSSHMAXNS NS HE AL 60,000,000 =14 60,000
OZEHM dF=A JEUEIHES N2 1,600,000 * 14 1,600
OXtae Fi+=< 430,194,0003 *14] 430,194
O xiel At 1,255,745,000& » 14! 1,255,745
OLQAAE JIsSEL(LMHFAESHH MF(1EIL))
48,588,000& » 14 48,588
OLQAAE JIsEZOISHCAEXNMEH HE=)
2,644,000 14 2,644
Okol=Es SEMHIAAMY 361,973,000& » 14! 361,973
OLosSE JIEMEAAMY 301,140,000 14| 301,140
OSHL S=sAdSE0l 29 75,000,000 14! 75,000
Osad HeES 220,000,000 14| 220,000
Ok ESE JIAMAE NI AAY 6,585,000& 14! 6,585
OZZHM RS MEIA K& 6,720,000& 14! 6,720
A= > 37,908,251 27,263,658 10,644,593
Oootols=20l X& 840,000,000 14| 840,000
OO0tsAEXE M= 4,119,000& » 14 4,119
ONsSL A AL 96,500, 000 * 14 96,500
OHZIHEXNEEH 29 41,975,000& =14 41,975
OESSsSMHUIA(SAIARI2AH]) 3,447,731,000& =14l 3,447,731




T o500 BES
B 510 2DEX3S
8 511 R DEX3S CLE-ED
Z.o-8-2 Ol & o4 A ol ot Hl @2
Oxge 23,761,0008! » 14! 23,761
ORMBTHI 80,000, 0008 » 14! 80,000
OESIA 22N 803,704,000 *14] 803,704
OZBHOR0IE X 420,420,000 *14] 420,420
OYROIESE X & 22,526,539,0008! » 14! 22,526,539
O0Z0lF N4t (S, 2020l 30,000, 0008 14! 30,000
OZO§OIOIBI0IE HHIHI(SZ, 0 &0IRI0IE)
3,000, 0002 * 14! 3.000
OJNzes+y X 6.261,414,0008! » 14! 6,261,414
ONHOISHE OISHNDAM X2 148,512, 0002 * 14! 148,512
ORFAIL(0IS) MAHS0I(5MH2) 384,000,000 *14] 384,000
OHMEZAIL ZORI0E 4% 209,550,000 *14] 209,550
OORIOIE E&(3ILIOIRI0IA) 49,595,0008! » 14! 49,595
OSgAEERY 300,000,000 *14} 300,000
ORFAIL(04) MAHS0(3MH2) 96,000, 0008 » 14! 96000
OOSLSNIHH X 119,000, 0002 * 14! 119,000
OJlEeI=ots M= ea 6,324, 0002 * 14! 6.324
OULOtS YE+Y 143,417, 0002 14! 143,417
OZNY LIS YREEI 21,782,0008! » 14! 21,782
OYY= DX X & 3.145,0002 * 14! 3.145
ORL2s0s 188 25 53,056, 0008 » 14! 53,056
OXHOISHE 2| 655,000,000 *14] 655,000
OXNHOISHE S4+2HY 2 50,251,0008! » 14! 50,251
ONOISHE EQY 29 29,376,0008! » 14! 29,376
OYY. A0S HRIXE X8 980, 0008 » 14! 980
OFAHE 22 OF31H0 SN & 83,000, 0008 » 14! 83,000
OR2 2UHZEY 29 3,000, 0002 * 14! 3.000
OOFS A& (S YSK0HR)IISEL(IHE) 950,000,000 *14] 950,000
OOSAIE(ME SRR T 22 10,000, 000! *14] 10,000
OS0ZEAT BANRAOT X & 13,100,000 *14] 13,100
<ol > 75,419 70,578 4,841
SIS 25,929,0008! » 14! 25,929
OJN=BHESE ARNE 49,490,0008! » 14! 49,490
<MHED > 7,000 14,000 A7,000




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OEzg & 2283 8 7,000,000 * 14 7,000
<JIGXN L > 1,022,123 827,739 194,384
OXNSEESH LXtel At 294,834,000 14| 294,834
omsJlyg =4 15,000, 000 * 14 156,000
OAt=l &J1 eXtel H= 712,289,000 14| 712,289
< 2@dz= > 1,655,300 1,889,000 233,700
OXNH2sn&E XN (232 S& FF FE WA
24d) 30,000,000 * 14 30,000
O%d tetel LElUR(AE) B - K= 2,000,000& 14| 2,000
OY4d ddel gdgd(a8) 2+ -1 10,000, 000& 14! 10,000
O%=F pHilel 28UR(A2) B - X2 2,000, 000& 14 2,000
OdF BSEHAMX 4548 E= 105,000, 000& * 14! 105,000
O A S22 HESA 100,000, 000& * 14! 100,000
O3 HAEAX FHl 1,134,000, 0003 » 14 1,134,000
Od= A= =4 40,000,000& 14! 40,000
O tst YstE 888 dsEssl 50,000, 000 * 14 50,000
OFFAl RI2otRe ANEANEINE 40,000,000& 14! 40,000
Od= Zadyd =3 FHl 100,800,000 14! 100,800
ONSdalE £ Ng2E 19,000,000 14| 19,000
Ol sad =2 (247, Ot =0l) 22,500,000 * 14 22,500
< sSMLdFEL > 194,780 3,881,000 A 3,686,220
Oddeld 248 & 22l 13,000, 000 * 14 13,000
OXgusHE 29 8,000, 000& 14| 8,000
OEAZQER ClHdEE 35,500,000 14! 35,500
OMEBIS JtAAE e 26,280,000 14! 26,280
OZ23AE SIEEZAIAE(GHP)AIZE A X 112,000,000 14! 112,000
< SEW > 20,957 55,129 A34,172
OZAN=X2cd 293 7,002,000 * 14| 7,002
Ost=3AaCliUlole] 29 7,002,000 * 14| 7,002
O=ZHENZA 2Y 6,953,000 14| 6,953
<z > 248,250 182,167 66,083
OFHIA(CNG) HA 22 143,750,000 » 14 143,750
OHAIA(CNG) HEAX P (BE) 13,500, 0002 = 1CH 13,500




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OM=sAHU X XA 91,000,000 * 14 91,000
< MENHF > 10,070,920 7,365,060 2,705,860
OMeDl HEAE ALY 9,655,000,000& * 14 9,655,000
OZ3MWaE JIgALE ssAY 301,000,000& *14] 301,000
OLZ=Sd0IE HMelX& 97,920,000 14! 97,920
OsZEHble =H24d 12,500,000 14| 12,500
OsZmlllEs =88 £X 4,500,000& * 14 4,500
< AHE > 3,801,435 3,867,004 265,569
OF=FSRFia=—NUE= =N 159,898,000 14| 159,898
Otz gHE &Y 22,800,000 14! 22,800
OHEx=2de 25 14,100,000 * 14 14,100
Ot THHZ2LIEHE 80,340,000 =14 80,340
OuzgElE 533,279,000 14| 533,279
Ott= Y Xl = 324,463,000 14| 324,463
OA2lMBIAZ0F Q1S A 17,610,000 14 17,610
OAZ AL 1,239,700,000& » 14! 1,239,700
OXEAY 411,294,000 14| 411,294
O=2t30| 940,909,000 14| 940,909
OE=sdat 15,325,000 14| 156,325
O MHIAE20/(=cH& ) 20,859,000 14! 20,859
OB MEIAER0/(=MEF2telel) 13,905,000 14| 13,905
OMBMHIAC RO (M EMHEHOISOHLIAM) 6,953,000& =14 6,953
<AL > 17,481,000 14,141,610 3,339,390
OM=& THoH U & A 3,240,000,000& =14l 3,240,000
OFEE THoH Ol &AL 4,700,000,000& =14 4,700,000
O=tE THoH Ol & AH 2,700,000,000& =14l 2,700,000
OFd 47 EXTEX(Y) ALY 1,215,000, 0003 » 14! 1,215,000
OYEWHAGHE ZHIAY 750,000,000& * 14| 750,000
OXAAGHE ZHIALY 350,000,000& * 14| 350,000
OuldA5td FHIAY 308,000,000& * 14| 308,000
Old==20td FHIAE 684,000,0003 * 14| 684,000
O2c/&dadtd HHIAY 850,000,000& * 14| 850,000
O=Jtotd Ald2 |2 1,184,000,000& * 14 1,184,000
O3 MollASX 7 HHIAEL 1,500,000, 000 * 14 1,500,000




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
< T2 > 770,000 2,497,000 A1,727,000
OJtehg 4xd =2 & " H 770,000,0003 *14] 770,000
< S ADE > 11,500,000 11,500,000 0
ORFHME3E =48 MY (HEE) 11,500,000, 0003 » 14 11,500,000
<usSHIY > 132,000 1,072,100 940,100
OHANZSEH AEHZAL AR EAH| 12,000,000 14| 12,000
OZMAZEHA EEFXE 2 120,000,000 14| 120,000
< EAMSH > 196,208 261,636 65,428
oAz A Hdl2g 19,200,000 14| 19,200
OXHot stdiel MAHH X3 36,662,000 14! 36,662
OS8tdlol T oAt TIoH Xt & X & 138,600,000 * 14| 138,600
Oozgdgac d2JF W=l 1,746,000 14 1,746
< 4 > 188, 194 13,516 174,678
OofeglolsA22NddE X2 180,000,000& * 14| 180,000
O0eolaZortdae Mgaeld g3l 5,620,000 * 14| 5,620
OAHIAASAMZ AR (ALIN) ESH 480,000 =14 480
OAlZotd e 32 S8 25 2,094,000 14| 2,094
<9 XN} > 285,184 287,147 A 1,963
OfZ2 a0t &E201 X3 A 238,200,000 14| 238,200
Oflzs0=a2d Xt A2 F Y| 43,584,000& =14 43,584
O=s0HEAZNMEIAMNE AL 3,400,000& =14 3,400
<sdlL > 3,039,526 2,635,686 403,840
ORASEEHASH 2,672,000,000& =14l 2,672,000
OsZEES0HA NE(ESLA SE22H)
196,667,000 14| 196,667
OXHEXNFHZHAE 243 112,659,000 14| 112,659
O6xtat A3t gdst ALEE ALY 15,000,000 * 14 156,000
OsHENEFL0E MRE HEXE 43,200,000& » 14 43,200
<sggsl > 2,025,070 2,202,852 ATT,782
ORJIZHlE 2dl X& 1,445,000,000& 14 1,445,000
OELMM SS(RaE AXNT]) 361,862,000 14| 361,862
OdsIsgHEXN=H 153,578,000& » 14| 163,578
O=HIAE ST XN& 34,680,000 14 34,680
O edsAM X3 A 11,000,000 * 14 11,000
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& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OELFEFL2Y RIHAZZ2X 2 13,000,000 14| 13,000
< AQ2etdE > 295,390 162,750 132,640
OWEM2LaINI(HENHER) 295,390
DMEOdeE 120,000,000 14! 120,000
D AtZ 22| X2 At 20,000,000& 14! 20,000
> ESEHA Q1A 47,250,000 » 14 47,250
PAHUSEHZIZ NS 2H 106,640,0003 » 14| 106,640
DRON 22 ¥ SYHE S 2524 1,500, 000& 14| 1,500
<SANEEZAME > 37,800 46,500 8,700
O3 M2 H&AIZE AF 37,800,000 =14 37,800
511-02 29 - NAEHELEIAHEXLS 22,886,479 23,298,515 A412,036
[ 2etsl A ] 22,886,479 23,298,515 A412,036
< XD > 96,000 96,000 0
O0elo] +dPa HEoIZetR=(CCTV) XA
96,000,000 14! 96,000
< XIAZH D> 2,477,000 812,000 1,665,000
2 F33 MY 29 500,000,000& * 14! 500,000
OMSIHL datetel =AY 200,000,000& » 14! 200,000
OY2AE TAIA MEIAL 39,000,000 * 14 39,000
OGRAE HHEIAE B AL A 59,400,000 14! 59,400
OERAE HIANE HE=>= SA 105,600,000 * 14! 105,600
OHYTAE ZAIIA BA 6,600,000& 14! 6,600
OEFAIE HIIAE SA 8,400,000& 14! 8,400
OUEKZSESAE EIANE SA 7,200,000& » 14! 7,200
OUEZESANE 2BAIESA 4,800,000& =14 4,800
OANEEda 7S =Xy FX0HY  1,000,000,000 141 1,000,000
OXtFAIE A2l WM SA 456,000, 0003 » 14! 456,000
OSSANUESANE DXEHH =4 90,000, 0003 * 14 90,000
< Zsd= > 3,000,000 900,000 2,100,000
OANE S22 M= 3,000,000,000% * 14 3,000,000
< &> 1,000,000 0 1,000,000
O =4SN SAMFSX =4
1,000,000, 0003 =14 1,000,000
<AZHSH > 650,000 2,900,000 A2,250,000
OHBZEOI7=E L Qe ANOEE 24 300,000,000 14! 300,000




Z: 500 X3
2 510 INEE3S
&: 511 FNPEIES (Sl &R)
Z.@.-8.-2 Ol &t o4 B 0 ot o Hms2
ORNES AXTLAY £4 350,000, 0002 *144 350,000
<ZED > 720,000 890,000 A 170,000
O+=28 x4 500,000, 0002 *14} 500,000
Ox2xs L 80,000,000 »14! 80,000
OsMux B x4 100,000,000 * 14! 100,000
ouRes 29 40,000, 0002 *14{ 40,000
< gD > 1,045,479 787,915 257,564
OXeim el (2e) 100,000, 0008 * 14! 100,000
OYEAL 945,479, 0002 *14} 945,479
<ALD > 125,000 209,000 84,000
OHEeXNs dxNY 125,000, 0008 * 14! 125,000
<DEHHY > 236,000 96,000 140,000
OO0l2I0lE5 7S CCTV &X 96,000, 000! »14! 96,000
OSHIKMEZ &X 140,000, 0008 * 14! 140,000
<sHED > 10,431,000 9,222,600 1,208,400
OIHB LR SHET AL 350,000, 0002 *14{ 350,000
ONANSEL (5AER) 193,000, 0008 * 14! 193,000
OsEMg A HH| 898,000, 0002 *14{ 898,000
OnoicoIZE I (58) 8,811,000, 0002 »14! 8,811,000
SEEIENEEFESE 144,000, 0008 14! 144,000
OsENe NS A3 5t 35,000,000 »14! 35,000
<EMD > 25,000 0 25,000
O+USRHYYS 25,000,000 »14! 25,000
<SENHED > 350,000 100,000 250,000
OsXe #2HS BOIZH X & 25,000,000 *14! 25,000
Os&A2T 2012 |4 75,000,000 *14! 75,000
OsAZ JNZHE Js22 250,000, 0002 *14{ 250,000
<sYINED > 324,000 315,000 9,000
ONsASHs2 2AR 1,400,000 »14! 1,400
ONH=USH3ee 24 L OHIE4  2,100,0008 *14] 2,100
OXNY=LSHSMY(NEMASXES) 245,500,008 14! 245,500
OzsA=Y SAFY| 75,000,000 *14! 75,000
<AED > 557,000 480,000 77,000
OAR2 +TAE HPAL 557,000




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
Z.2-8-2 Ol &k o8 B ol by Bl =2
DPAZTH S22 AE 35,700,000& *14 35,700
DAZH 42 e 38,700,000& * 14 38,700
DS MY H=el &0l 66,397,000& * 14| 66,397
g™ AtMZ =& 65,040,000& * 14| 65,040
>PEYH MXel HAH 80,049,000& *14 80,049
DEEH 432 ME 38,239,000& *14 38,239
DAl Z2eH1el 2= 34,739,000& * 14 34,739
>DREEH Hi4e 249 76,397 ,000& * 14| 76,397
DS M Dite &2 34,739,000& * 14 34,739
>DEIC AME 35,000,000& *14 35,000
DSYH Het3el =&t 52,000,000& * 14 52,000
< DlcH AR D > 1,850,000 3,790,000 A 1,940,000
OXNEgadXNLAMH2S 50,000,000& * 14 50,000
ORAZNAIYE JIATA 5 AAT 2L
1,800,000, 000& =14 1,800,000
511-03 JI= 6,165,341 11,893,880 A5,728,539
[ LBrs A ] 6,165,341 11,893,880 A5,728,539
<A s > 1,571,814 1,356,379 215,435
ONd=dIoiA XI=23l= 20,000,000& =14 20,000
OFAE d23HH 2 X 70,000,000& =14 70,000
OZ2Z2eAMd 32FXNZ AL X XA 29,160,000& =14 29,160
O&d=ZdIoiit ESAIE Hl== X 4AHHl 10,994,000& 14! 10,994
OBAUSHXAMN 7SN 50,434, 0008 14! 50,434
OstR2ItE ots 2=dl XA 501,431,000& =14 501,431
OZ3gAMd 2208 29X 3,000,000& =14 3,000
O&¥AYE FE 22 12,000,000 » 14! 12,000
O4dZY Ikt Xzs= 18,800,000 » 14! 18,800
O&8=8 Jtol At nEX= 14,238,000 » 14! 14,238
ONd == Hlol A 2 ZHI 2,500,000& =14 2,500
Od=ZY Haikt 2 =24l 8,944 ,000& =14 8,944
OW&=Y Tkt ESAAE SALL s 1,920,000 » 14! 1,920
OZdIlol 0OlI=H&E &H 29 73,800,000& =14 73,800
OZdIlof 0IF=04 &8 JIs:22 1,000,000 » 14! 1,000
OZdIiHE =AHAJ ALY 19,219,000 » 14! 19,219




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OZ2&0I2UX SHANHIA 31,850,000 14 31,850
OZ2&0I2UX SHAANHIAAY 28| 4,200,000& » 14 4,200
Ot=2=tE Y dogg X 41,239,000& » 14 41,239
OU23ItE td Aol Mudd 293 11,369,000 14 11,369
OJIE=8 4= S&ds2 24 53,691,000 14 53,691
ON}E=gIdit BESANE 29 74,861,000 14 74,861
ONE=IdA BESAE Hi== 4 8,400,000 14| 8,400
O0sSHEES XYMl 29 3,600,000& =14 3,600
O&FAY Sotel K& 2,400,000 14| 2,400
O34dE F0ES 2EAA 1,400,000 * 14 1,400
OFEad 2g23s 2EX& 3,000,000 =14 3,000
OFAY SEH Z208 2N (FAEXIHH)
54,559,000 14 54,559
OZZ4 Ikt ESAE 29 72,610,000 14! 72,610
OLU2IIEXNZHMEH 234 126,910,000 14| 126,910
OL23ItE 42 uSAMY 157,731,000 14| 157,731
OZ20I2A 2OUIOIH AIHZSAE 19,950,000 * 14 19,950
OJIE =8 Jtol it ndExg T2 4,990,000& =14 4,990
Od=g Nk ==8HE N EHENS
1,000, 000& 14| 1,000
OFA~EERE2 U 15,207,000 * 14 15,207
OFAAHNE HAE NEXNE 45,407,000& 14! 45,407
< 23t0lz= > 390,200 140,000 250,200
OSeg=2s02AAMY 382,700,000 14| 382,700
O=23=X d2ed JI2M22T 2+ 7,500,000& 14| 7,500
< 22 > 13,810 72,121 A58,311
O2st2Boi A 2SXE 13,810,000 * 14 13,810
<ALH=F > 465,403 6,316, 155 25,850,752
OMEM S B XA 97,152,000 14| 97,152
ooz M=sgs X3 48,576,000 » 14! 48,576
OAEZ=HI XA 76,440,000 14! 76,440
OdeM=3 23X 3,235,000& 14! 3,235
O]AFALZEZE =4 240,000,000 14| 240,000
< SEWL > 115,000 0 115,000




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
OaAE sMz2dxd 115,000,000& * 14| 115,000
< EAANGD > 132,876 99,579 33,297
O4=HA LS 880,000 * 14 880
OPPMZtS AF XI& HI 66,000,000 * 14 66,000
oy XNE 8,538,000& 14| 8,538
OgYEBEXS A 22,010,000& 14! 22,010
ZHAFY I Y 5,930,000& =14 5,930
OZHAS T AL /x-ray™ TST Al 6,502,000 14| 6,502
OZHASTZ A bl 480,000& =14 480
Ofl=Sgsi&lt &M 16,896,000 * 14 16,896
ool z2gel &g 290,000& =14l 290
Odg Al 204 1,642,000 14| 1,642
OO0ilo] =& EhAl2F 2 0H 3,008,000& =14 3,008
OXNSMHSEEES A= 29 700, 0003 =14 700
<ABSEY > 861,775 754,975 106,800
OXISAtel S8 22 ST ALY 479,908
PLEA EEANLE 16,144,000 14 16, 144
DAI UL FAS 15,550,000 14 15,550
DEAESHAMY 134,278,000 14| 134,278
DaCg2aET e oY2AeASE 20,338,000 14! 20,338
D=3 A 70,362,000 14! 70,362
DAL 2ACALS 178,611,000& » 14| 178,611
D> XIOHZED1 & &AL 21,575,000 14| 21,575
DASAS SEMEAE 23,050,000 14! 23,050
OSHANE SHEQRA(A2EH) 3,875,000& =14 3,875
OXIS Atel A XA 23,884,000 14! 23,884
OttdZaae] A AT ALE 2Tt FMTP 1,350,000 14 1,350
Ot ekt 2el 4,516,000 =14 4,516
OLQofXl Azt 55,992,000 14! 55,992
O QX At= 22l 2,200,000 * 14| 2,200
OXMX 22l XA (-olHd2ze]) 62,500,000 14! 62,500
OFUALSEHH 2H(EX) 80,000,000 =14 80,000
O0tsEaE BAEBHAY 50,000,000 =14 50,000
OXtaoe & FAMALSTAE 30,000,000 =14 30,000




Z: 500 BX3
2t 510 = UEXSS
g: 511 2 DNEX2S (Etel &)
g-2-g-5 Ol & 4 & E = Off AU Hns
Ossdel seXd deH2g 67,550,000 * 14! 67,550
<oEXA > 1,712,005 1,434,753 277,252
ORJtULHSALY 727,779,0002 * 14| 727,779
OR24ots A& 208,012
DU XA 202,600,000 * 14! 202,600
PEESNEASE MA 1,212,0002 14! 1,212
DEAEMD QA E8 GZHXA 4,200,0002 14! 4,200
ONE0eI0l SEAL(XAASSEALSTA)
24,685,0002 14! 24,685
Ogext AzHl X2 157,500,000 2 *14! 157,500
O2xI| JEAL 144,000,0002 14! 144,000
OB AL 2A=2H HES 323,808,000 * 14! 323,808
OgRot A2AN 11,404,0002 14! 11,404
OSROF AFMOIEN AL 22 109,656
DEHGUAOISZE A & Eot2te 37,616,0002 14! 37,616
>0I=0t & SHH0I40F 2AZH 60,830,0002 *14! 60,830
DAoL HE RIIREAY 11,210,0002 14! 11,210
OMOHMEI| AL ATAS 5,161,0002 14! 5,161
<s3ZL > 65,375 63,988 1,387
ORASBHEINIIUSH (AL 221l) 36,783,0002 14! 36,783
OsXolgaelxa 28,592,0002 *14! 28,592
<SYRSH > 80,000 36,000 44,000
OBU=DEZANE HUALY 80,000,000 * 14! 80,000
< B4 > 670,083 1,429,420 AT759,337
OZAZHAIIBHESAS (B &) 197,000,0002 14! 197,000
OZAZHAIIBHES A (XHE) 15,000,000 * 14! 15,000
Ostuegzaaxd 282,330,000 * 14| 282,330
OHES 2| 19,600,000 * 14! 19,600
OFASHACCP AE NS (SHFLASS) 19,200,0002 14 19,200
Onz2uHelAg 99,930,000 * 14! 99,930
ON=2LEIHAY 37,023,0002 14! 37,023
< ARIZ2SHAE > 87,000 87,000 0
OZEOIRHLEH 12,000,0002 14! 12,000
OxNgagoz Iy 75,000,000 * 14! 75,000




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
520 Al - SHIEXZ=S 55,926,357 51,612,914 4,313,443
521 Al - EHIEEXZS S 55,926,357 51,612,914 4,313,443
521-01 Al - EHIEXS S 55,926,357 51,612,914 4,313,443
[ Letsl A ] 55,926,357 51,612,914 4,313,443
< UHEESEY > 52,233 390,493 A 338,260
OMHFAXS HIEALE 2= 35,000,000 14 35,000
Ot N2 Bd =2 3,000,000 =14 3,000
OAHZLIHSMYE 2EXE 555,000% 14 555
Ouldl=Z s4dXI& 5,775,000& 14| 5,775
oggAlI=XdU S B2us N 817,000& 14 817
Otlgfunsgd A= 1,320,000 14| 1,320
oglgre eld &4 176,000& » 14| 176
O=0F0 g & &L 266,000 14 266
Oct2us ZA=E 987,000% 14 987
oxzagAl =4 193,000& * 14| 193
O tHLE H=H 4,144,000 =14 4,144
< UHXHED > 74,242 233,972 A 159,730
OMOISXNEX Xt &&ts 23,000,000 14! 23,000
ON6sl M2SAXNLEAN AIRAH| 51,242,000 14! 51,242
<HEESAM > 12,650 4,350 8,300
OsHEZ2UHIAILY 2= 800, 000% 14 800
O330mBHY FE2AAE 2= 7,500,000& * 14! 7,500
OAMNZIE=Estuns 29 4,350,000& =14 4,350
< FOXF W > 362,019 372,455 N~ 10,436
OMAZH(2EAE) 16,000, 0003 * 14 16,000
Oz==X 11,933,000 14| 11,933
Ok=0o S ME29Y 196,386,000 » 14! 196, 386
OXIE At =XE2s 23 11,000,000 * 14 11,000
ZEOA2Y 10,000, 0003 * 14 10,000
OMEEXAE 2SR 7,200,000& * 14 7,200
SER3SA 2F2ZH N 2,500,000 =14 2,500
OA2SXAIE SAA SX=E 9,168,000& =14 9,168
OXtatel Bl2HE X& 34,000,000 14! 34,000




09 i 0

500 Ex=
520 Al - SHIE X
521 Al - EHIEX

Z.o-8-2 Ol & o4 A ol ot Hl @2

OSs0/gx0 FRER(STEG, B2Y VEsHNY,+

stois20l) 11,032,0002 14! 11,032
OX MBI =X HoIH 248 6,000, 0002 *14] 6.000
OMIIEE O SEX 25t 46,800,0002! 141 46,800

< AB=XD > 13,441,495 12,116,842 1,324,653

ORE2ZAL (K HAY) 40,500, 0002 14! 40,500
OJz4E=E SN0 2,028,335, 0002 * 14! 2,028,335
ONBLIHALD X of2e X 7370002 * 14! 737
ORNEDZAY (2249 =) 102,000, 0002 * 14! 102,000
ORFAE MAZ0(=IAE) 69,000,000 *14! 69,000
ORFAIE MAZOH(HMOIAE) 43,000,002 * 14! 43,000
OJEMBRY FAHSO 597,003, 000! *14] 597,003
OFNEEZ0 I+ 20,000, 0002 14! 20,000
OJZ422Y DSS0 46,216,0008! » 14! 46,216
OMMALD 2503 1,200, 0008 14! 1,200
Oxtael gRgoIN 8,658, 0002 * 14! 8.658
Odfer ZHS o 8,890, 0002 * 14! 8,890
OREASTH(HENI) 13,500,000 *14] 13,500
OXI 2 AHSI M HI A S XA ES 152,280, 0002 * 14! 152,280
OB0EZ0je FEIHTAL 1, 140,0008! »14! 1,140
OZofe! o2t X & 8.310,000% «14] 8.310
OJNZHMH+Y X2 54, 54,0002 14! 54, 154
OO XA st 480,0008! » 14! 480
O&ojel SEaey) 568, 0008 » 14! 568
OZoje 2xJ17 0% 500,0008 14! 500
o=Zojeleiz X3 336,426,000 *14] 336,426
OLYHY %A HHlA X 100,000 14! 100
OZojeI=x LX2l X & 9,468, 0002 * 14! 9,468
ORZojel #E20 X 36.024,0008! » 14! 36,024
OT2Y A2AZT 04Ol OHOHAL TIHA 4,402, 0002 * 14! 4,402
OJEL-Ze2 2,839,212, 0008 * 14! 2,839,212
OZOHOIS HEXSAY 40,568, 0008 » 14! 40,568
O0jo! AISIE S 210,779,000 *14] 210,779




500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE
Z2-2-8-5 Off &4 & E 0l At
OSSHMANSNAHEHEZS 18,000,000 * 14 18,000
OMIIEXSAL EX=L(SX2) 11,496,000 14 11,496
OMBISXBAMA SX=2(XHE) 2,000,000& 14| 2,000
OMIIEXSAXN SX=L(HHAAL) 67,000,000 =14 67,000
OMIIEXSATL SEX=S(-AAIHE) 119,480,000& » 14| 119,480
Sl xiel ArY 241,557,000 14| 241,557
OO E&Hl X2 (=4l) 180,000 » 14| 180
OZLEHM dF=A JEUEXHES N2 80,000 14 80
OXtae Fii=+=< 55,311,000 14 55,311
OLQAALE JIsEL(AMFOAESHE AF(1EX)
9,718,000 14| 9,718
OLQQAANE JIsEL(NHSLASKME HES)
529,000 * 14 529
Okol=Es SEMHIAAMY 31,026,000 14 31,026
Ok sSE JIE2MEIAAMY 25,812,000 14| 25,812
Ok SsSHdS20 29 15,000, 000 * 14 15,000
Oosad HeES 44,000,000& 14! 44,000
Ok ESE JIAMAE NI AAY 565,000 * 14 565
O2dANEsdT S022F KA 330,000& =14 330
OMASE H=cl N2 4,800,000& » 14 4,800
Ools==xtg 24gH N 8,000,000 14! 8,000
OZM=EX2 29 4,648,000& 14! 4,648
OFOMA HAFAIE 2L X2 (6IHA) 2,450,000, 000 * 14 2,450,000
OZOMR AFAL 2| dgesd K 23,040,000 14! 23,040
OAN2AHMHAMRSHE 28 X 4,646,000 » 14 4,646
OZMHAFAESAIE 2 X (4HA) 18,584,000 14| 18,584
O=3stsdue 28 N& 4,646,000 14! 4,646
OEMHZEXNZ 244 XA 4,800,000& 14! 4,800
OAIZrEoHel TIEXNJAMEH 29 5,440,000& =14 5,440
o R34 X 4,203,000& » 14 4,203
OZML M2FR=XA 5,875,000& 14| 5,875
O BIFSAMY 29 6,760,000& 14! 6,760
O A& X 3,948,000 =14 3,948

O HeWazHl X 2,800,000& * 14| 2,800




500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OO E&HH X (=Hl) 1,200,000& 14| 1,200
OSHESZMY 2SEXXNAAMY 47,808,000 =14 47,808
O&oel orst=gdl X& 7,000,000& =14 7,000
O&Fx=Log 36,000,000 14 36,000
ColdEAld 2l 494,129,000 14| 494,129
O3 NE SHUES(AMES0)
2,355,150, 000 * 14 2,355,150
ONMI2HADAE 2E XN 2,160,000& 14| 2,160
Oddidsd 224l 4,500,000& » 14 4,500
Okollisted Tzl (2 Atdl) 12,000,000 14| 12,000
OZ2Y gl 118,500,000 14| 118,500
OZ2Y JIsEd MY EX(H2S &7 46488 B2 E
A=) 80,000,000 * 14 80,000
OZ2Y JIsEZ MY EX(SMY 222 842824 ¢
=) 80,000,000 * 14 80,000
OZE2Y JIsEZ A BX (RS 218 BEEY 4 F)
40,000,000& =14 40,000
OZ2Y JIsE2 A BX (29 HACBRY UF)
100,000,000& * 14| 100,000
OZag Mg Tz &g 29 4,480,000& =14 4,480
ogdz4g 29| 188,268,000 14| 188,268
OXEASSALA d&2st 2,000, 000& * 14| 2,000
g ERAedEHHA XA 576,000% 14 576
<OHAENEH > 21,777,684 17,777,795 3,999,889
OJNE=8 4= S22 26,846,000 14! 26,846
OZR0t E|wA S8€29 XA 75,240,000 14! 75,240
OOtSAIE(MEL=SO0IH) JIS2Z(HE) 285,000,000 +14! 285,000
OOtSAIE (MEISOIHA)EHIEZ 3,000,000 =14 3,000
ORZ ZUHEH 23 900, 000& =14 900
OU2IENE dHSTHuA 22 974,000% 14 974
OstRZ2Itx ItH u=sHl A& 39,590,000 14 39,590
OJE = It it wEXZ 642,000% 14 642
OOstH&EESs XYl 29 720,000& =14 720
OOts¢tE XL M A 824,000 * 14! 824




E: 500 Bx2

2 520 Al - SHIEXZ2S

8 521 Al - SHIEZX2S =D

.-@-g.-2 Ofl &t ot H A = 0l o HRZ2
OBSSEMHIA(EAXI2H]) 1,034,319,0008 * 14! 1,034,319
OURSIE Xt oL X 3,536,000 *14! 3,536
ONE=Z Mokt X2s= 2,571,000 *14! 2,571
ONEE NN E3AE 2 16,041,000 *14! 16,041
OMd=Z Mok B5AE 2K 15,560, 000! 14! 15,560
OMZ2 MalX XB3= 2,417,000 *14! 2,417
OMZ2 JIeiX DR 1,831,000 *14! 1,831
ONFE Tsix o 2| 321,000 * 14! 321
Od=Z2 MaiXk 22| 1,150,000 *14! 1,150
ONEE NN E3AE 2 3,548,000 *14! 3,548
OWMZ Mokt NEX 2,400,000 *14! 2,400
ONMZ Mokt B5AE SAN DS 960,000 * 14! 960
OMd=Z Mok B5AE 2 3,550,000 *14! 3,550
Z2050 0IF0A A 29 15,814,000 *14! 15,814
ZUcH 0104 A Jls2 2 2150002 * 14! 215

OZAWaHO A Z=HKAALY 4,119,000 *14! 4,119
OORI0IY SHI| Lty X2 24,480,0002 * 14! 24,480
ODIZHO2I0IE S|DAF MMM 298,800,0002 *14] 298,800
OFOHOF M OR0IE ESDAI SEagY  6,720,0002 14! 6,720
OORIOIE BAK HELS 43,700,000 *14! 43,700
OO{ZI0IE THM DAL 21218 9,590,000 *14! 9,590
OF2XY 20T DX DT 8,756,000 *14! 8,756
OBRRI=E OIS LFH X 62,679,0002 *14! 62,679
OBSAE HASE0E YLK 27,886,0002 *14! 27,886
OBIZOIOF 20ts B52 6,500,000 14! 6,500
Okl 282 X 11,683,311,000! *14! 11,683,311
OHAY 822 JXL 1,901,000 *14! 1,901
OotolS=0l X2 72,000,0002 *14! 72,000
ONE AL A 19,300,000 *14! 19,300
OALNHXAHE 29 8,395,000 *14! 8,395
OURSIE L2 DSAY 13,520,000 *14! 13,520
OZS0|2X SHAMHIA 2,730,000 *14! 2,730
Oxtze gl 7,128,000 *14! 7.128
ORI THI 24,000,0002 *14! 24,000




& 500 2=

2 520 Al - SHIEEXES S

ghr 521 Al - EHIEXZE (el ®J)

Z2-2-8-5 Off &4 & E 0l At Hr&E2
OEFuWAI 2R3 dH 241,111,000 14| 241,11
Os380eoldE XA 126,126,000 14| 126,126
ogsot2sz A 4,505,307,000& =14 4,505,307
Ootgegd=s=+< N 1,252,283,000& » 141 1,252,283
OO0lglold HE=HI (Y, 82020d) 9,000,000 =14 9,000
OZOHOtO{RI0IE ZHIHI(S2,0&H20IE) 900,000 +14! 900
O2FANE(0tS)MASO (5 A) 48,000,000& =14 48,000
O2FANE(HY) d4ASH(3MA) 12,000,000 14| 12,000
OootsZaX2 AR XS 10,200,000 14| 10,200
OJE=E0ts doli2EE= 534,000& 14 534
oggots &dxs5+¢ 12,293,000 14| 12,293
OLL=cA 2K 268,000 * 14! 268
OZMgLots dEE2X= 1,867,000 14 1,867
OREslOls 88 B 15,917,000 14 15,917
OXlgotsdH g8l 131,000,000& » 14| 131,000
OXlgotsdH E+==2588 29 10,053,000 14 10,053
OXgotsdH EY 29 5,875,000& =14 5,875
OXgotsdE Ots=XwA XI& 29,702,000 14! 29,702
Ogg IIgAENS &g XNE 84,0003 14 84
OEaxHEsE 2EXE 3,000,000 =14 3,000
O¥Eadgsotel gskd 600, 0003 * 14 600
OoZzag=sX . U2see 2SsXE 4,634,000 =14 4,634
SHRZIIE Aoty XE 116,676,0003 » 14| 116,676

OMMotoled NSstdl gsts & == 116,400,000 « 14 116,400
OMMOLoI & Atd et st=z 23,000,000 14! 23,000
OU=23IIE 0IZALE ZHAE 800, 0003 * 14 800
OOtSLFAIE SAX SX=L(9ML) 25,440,000 14! 25,440
OXS0otsHEH SAX SR (2601 2) 10,000,000 14 10,000
OXlgotsdEH 238 It X2 23,484,000 14! 23,484
ORIAEIEMS(MNASSE XY) 2 90,000,000 =14 90,000
Odld@+stn 2EX& 22,500,000 14! 22,500
OWAESKIAIE SAX SX =L (5H2) 6,912,000& 14| 6,912
O0tssA TAE e |RFH XA 960,000 * 14 960
OFHAE = 3,600,000 =14 3,600




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
O=sto{ &l 1,300,000 14 1,300
otstgsr= 7,500,000 * 14 7,500
OsgHE 4,800,000 » 14 4,800
OEs0ts HetdatdEza & 12,000,000 14| 12,000
O0tsZAXA(EHIHE) 814,858,000& » 14| 814,858
O0tsZSA XA (S Al Y) 107,242,000 14| 107,242
OXlgotsdH S0l 202 WAXE 3,500,000 =14 3,500
OsHELT AN EAA 3,930,000& =14 3,930
OSAZ AL SENHEE &=F 62,865,000 14! 62,865
Oolglold sx(stLioigold) 14,879,000 14 14,879
OZMorE=0eols XNl K& 6,000,000 =14 6,000
OS30E0ld FHAR 228l X& 10,800,000 * 14 10,800
oLy g =Fot=s 4,000,000 =14 4,000
< X&EL > 12,000 0 12,000
Okz3 & H=Eds &8 12,000,000 14| 12,000
< NAZHD > 962,165 721,040 241,125
O2ZJ17] =S EIJls HEMY X
100,000,000 * 14| 100,000
O=HNssAFHE X3 30,000,000 * 14 30,000
Oz SEAEHE K& 200,000,000& 14| 200,000
OLRAE ZAILA AEIZAL 3,900,000 =14 3,900
2RAE WHEIAIE B AEZAM 5,940,000& =14 5,940
OERAE HIIANE HE= A 10,560,000 * 14 10,560
OHTAE ZAILA B A 660,000 =14 660
OEFRAIE HIIAE SA 840,000& =14 840
OUHES =AY HIIANE SA 720,0003 =14l 720
OUESESANE 22AE SA 480,000 14 480
OANZEHSFE F=UHEEd 2EXN0HY 100,000,000& * 14| 100,000
OXNSAIE HHI BH SA 45,600,000& =14 45,600
OSSANUEHSANE UREHH =4 9,000,000 =14 9,000
OHMl9zl Z&2AZ2IIJI8 A= Wzl X 100,000,000& * 14| 100,000
OanZ 2A=JJIgHM ME 88 & e X&
300,000,000& *14] 300,000
Ot eldEE XA 1,665,000 14 1,665




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OHSAE AE2A HiX 52,800,000 14! 52,800
<JIGXN L > 245,526 194,367 51,159
Osdga 29 N& 22,000,000& 14! 22,000
OXNSEEsSH LXtel At 88,450,000 14 88,450
O3822 At 34,190,000 14 34,190
Ol X dE HSEEA 7,400,000 * 14 7,400
O A2E 8tits M=0al 4,000,000& =14 4,000
o=y 54 4,500,000 =14 4,500
OAt=l &1 eXtel H= 47,486,000 =14 47,486
S=30E o33 g 7,500,000 =14 7,500
Oz. 08X JIgH HEAA 30,000,000 * 14 30,000
< 23t0l= 1,913,671 1,291,693 621,978
ox&del 25 100,000,000& * 14| 100,000
OXlg=zstd Mg 28X 5,000,000 =14 5,000
O0tIts 2st2s N3 ALY 7,200,000& » 14 7,200
O2s=A 228 JIAHIE2XN E= 2,500,000& 14| 2,500
OSE=30ESHAMNI 31,271,000 14| 31,271
ODISSSL XN (2XINOIS) M EX AL
30,000,000 * 14 30,000
OANg SN2 d= 1,250,000, 0003 » 14 1,250,000
Oy tetel LEIlUR(AE) B - XE 428,000 14! 428
OY4d ddel ggd(48) 2+ 1=z 2,143,000& =14 2,143
OY= gHlel 2dUR((Ae) B+ Xa 429,000 14! 429
O SEHMI &4 2= 22,500,000 14! 22,500
O A S22t HESA 50,000,000 =14 50,000
OfdzaM &8ss XN& 44,400,000& =14 44,400
ORE23M ds8s SHEAMN X 6,750,000& =14 6,750
O%F= 8&AX &l 243,000,000 14| 243,000
Od= A=< MI=H 12,000,000 14| 12,000
OStst UoE 288 dstestn 15,000,000 * 14 15,000
O&dFAl Rcl2etrd AQEAMNEINHE 12,000,000 14| 12,000
Od=x gty =3 4 21,600,000 14! 21,600
ONSHaIE £ NF2E 5,700,000& =14 5,700
OlfXlsAd+=2(sH2A}E, Ote=01) 6,750,000& =14 6,750




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
O2= 34 Hd2AE 30,000,000 14! 30,000
OFEAN EZF JEASXZA 15,000, 0003 * 14 156,000
<& > 334,143 22,986 311,157
Oazal sMsdll SdMs2LX =4
300,000,000 14| 300,000
O2st2Boi&A S 4,143,000 » 14 4,143
Os&tXI 2 &t 30,000,000 * 14 30,000
<ALH=SW > 2,162,380 2,939,380 AT77,000
OAEZ=HI XA 16,380,000 14| 16,380
OCRAFALZEZE =4 170,000,000 14| 170,000
OEHZEOFTE & QI AAOER =4 140,000,000 14| 140,000
02015 2 HI=AAU(IBF) NMASE XA 25,000,000 14! 25,000
OdEdM=suNs 29 11,000,000 * 14 11,000
O=18 Z&83A 200,000,000 14| 200,000
O4azxzd Z&43018 =4 100,000,000 14| 100,000
02015 LM UH MSAE HES=SAM
1,500,000, 000& * 14 1,500,000
< sSMdFED > 4,365 738,077 AT33,712
OTIIANE e XA 2,394,000& 14| 2,394
OMEBIES JtAAE e 1,971,000 14| 1,971
< SEL > 213,286 272,026 A 58,740
O=38¥g &4 150,000, 000& » 14| 150,000
OszZxz4gzel 24,000,000 * 14 24,000
OsMHNINZSE =4 30,000,000& 14! 30,000
ou=ezsd 249 3,000,000& 14| 3,000
OEAN=X2cd 29 2,100,000& * 14| 2,100
Ostu=3acliulolgd 29 2,100,000& 14! 2,100
O=ZHENA 2Y 2,086,000& 14! 2,086
< > 75,715 64,658 11,057
OFAIA(CNG) HA EF 43,125,000 » 14 43,125
OHAIA(CNG) HEAX P (BE) 4,050,000 1CH 4,050
OMsAHUY &X X3 10,920, 000 * 14 10,920
OZasF2ZAl 29 17,620,000 14| 17,620
< METHR D > 7,180,120 5,455,840 1,724,280




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OMeDl HEAE A 6,956,000,000& =14 6,956,000
OZSHEE JIEAIE ALY 211,000,000 14| 211,000
OsZEmlls =88 £X 3,150,000& » 14| 3,150
OZSstEa e & 2eldl XA 9,970,000& =14 9,970
< AHED > 1,318,056 1,257,812 60,244
O (2) 30,000
OFEFYN=E 01888 33,324,000 14| 33,324
Otz gHE &Y 6,840,000 =14 6,840
OB 2L B 3,760,000& =14 3,760
Ot THHZ2LIEHE 24,102,000 14! 24,102
OuzEME 53,952,000 14! 53,952
O2s+ Zl 23,838,000 14! 23,838
Ott= Y Xl = 146,009,0003 » 14| 146,009
OArZ AL 265,650,000 14| 265,650
OXEAY 76,530,000 14 76,530
O=2t30| 280,473,000 14| 280,473
OZE A 121,563,000 14| 121,563
OEsdat 4,028,000& » 14 4,028
O MHIAE20/(=cH& ) 6,258,000 14| 6,258
O MHEIAZR0/(=MEF2telel) 4,171,000 =14 4,171
OMBMHIAC RO (M EMHEHOISOHLIAM) 2,086,000 14| 2,086
Oty 2AES 235,472,000 14| 235,472
<AL > 1,962,700 1,231,000 731,700
OZx=dl28 I X3 3,700,000 =14 3,700
OM=& THoH U & A 432,000,000 14| 432,000
OFZE THoH Ol & A 627,000,000 14| 627,000
O=tE THoH Ol & AL 360,000,000& * 14| 360,000
O3 MollASX 7 HHIAL 300,000,000& » 14| 300,000
Ok ZAH &ZMHE ML 10,000,000 * 14 10,000
OzRU =8¢ 233Hl At 15,000, 000 * 14 15,000
Oz IS F=HEIME At 15,000,000 * 14 15,000
Osgd AKX+ s2 & == ZHISA
100,000,000 14| 100,000
OFE 2l 82 HESA 100,000,000& *14] 100,000




& 500 =
2 520 THIEXZS
8 521 Al- GHIEE2S el E)
.82 Ol &k o8 B ol by Bl =2
< 150,000 70,000 80,000
=23 =dgotAHa 50,000,000& * 14 50,000
= ot oIEs 100,000,000 =14 100,000
< 200,000 825,000 A 625,000
48 230S 2 A
0,000,000& %14 200,000
< 10,000 0 10,000
SES 10,000,000 =14 10,000
< ot 60,000 601,790 A 541,790
SHAl SF 60,000,000& %14 60,000
< & 0t 218,749 112,606 106, 143
OBH&z & FHyl+¢ 4,800,000& *14| 4,800
OHLSEIEHXN A AIE2IZ 4,500,000& *14| 4,500
Okorzael 3,895,000& %14 3,895
OMotstdiol MAHl XA 36,662,000 * 14| 36,662
ogazgzadat XA 1,708,000& » 14! 1,708
OEAHE=ET A 4,402,000 & 14| 4,402
o2z I 1,186,000& » 14! 1,186
OZHASH A/ X-rayZ TSTAI & 1,300,000 » 14! 1,300
OFAANE 23 T8I 28 2= 0/s&= 3,680,000 14! 3,680
Oostulf Zs & 16,660,000& » 14! 16,660
OZ&ig it 2x & =24l Xl 556,000& * 14 556
Od=Hcd s 880,000& * 14 880
OFIJNEXN 2AZHIKA 280,000& * 14| 280
OEsT gle 84 2 138,240,000& » 14! 138,240
< At 72,000 0 72,000
=4l 2l X & dlE 72,000,000& * 14 72,000
< ni; 193,311 156,822 36,489
3 s Z 95,982
SAETEA 3,229,000& * 14 3,229
M AE ALY 3,110,000& =14 3,110
=d A 26,856,000& * 14 26,856
g 01 4,068,000 *14| 4,068
b 14,072,000& » 14! 14,072




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
DAL 2ACALS 35,722,000 14! 35,722
D X001 E &AL 4,315,000& =14 4,315
D> XIS ALS TH & A 4,610,000 =14 4,610
OMILEX 2lg88 +¢ 3,100,000& 14| 3,100
OSHANE SHEQRA(A2EH) 775,000 14 775
OLQofXl Azt 11,198,000 14 11,198
OLQoXl MAI= 3,014,000& =14 3,014
OXIHXZ2eldl X& 12,500,000 14| 12,500
OXHssSH 3,840,000& =14 3,840
OXIH&t At X e 2208 29 3,000,000 =14 3,000
OFUALZEHH 2H(EX) 16,000,000 * 14 16,000
O0tsdad FAUEAMIY 10,000,000 * 14 10,000
OX&0TAE H JaALSTIANY 6,000,000& =14 6,000
Ossac sgid dH2Y 13,510,000 14 13,510
OXt& ol LAty X2 (=Hl) 4,800,000 =14 4,800
OXteoad & HIFESAMY 7,000,000 =14 7,000
OZUEAHANE SAA =8 2,304,000 » 14| 2,304
OAtISXAIE SALA =& 288,000 * 14! 288
<9 XN} > 502,228 449,649 52,579
Oflzs0=a2d Xt A2 F Y| 5,448,000& =14 5,448
OsHEASHMEI AN 850,000& =14 850
OfZ2 A M0t &E201 X3 A 16,310,000 14 16,310
O=JtHZE S ML 240,116,000 14| 240,116
OZdots A3 XA 41,602
DHARE XAASE 40,520,000& » 14 40,520
PEEZANEASE WA 242,000 14! 242
DEAEMD F& E4 ZHIXE 840,000& =14 840
Og=0t AHEM R A2Z2e] 21,931
DHAXMLUAIOI S AA & Eot2tel 7,523,000 * 14 7,528
DOl=0F & &4 -&0l40t 2= 12,166,000 14| 12,166
D Ao HE XTI AS 2,242,000& * 14| 2,242
Odgdze Zddl 9,000,000 =14 9,000
o=t & 6,400,000& =14 6,400
Ozadde Zddl 6,400,000& =14 6,400




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OsHHs Hal 6,400,000& =14 6,400
OXH MO o248l XI& 15,000, 0003 * 14 15,000
OEHE 0l SAG (XA SSALSEAY)
4,937,000& » 14 4,937
OS3U-EAANAE2Y 2,772,000& » 14| 2,772
Oetit A =HXH 31,500,000& 14! 31,500
OXINIZHEAZ 28,800,000 14 28,800
OgALGXNLEEL 22l HES 64,762,000& 14! 64,762
<sdEL > 527,350 357,071 170,279
OXAZCXNIASHAIY 283 5,633,000 14| 5,633
O=ZEES0HA NHE(ESDA SEE224)
54,397,000 14! 54,397
Od2=sgde RS3EN #sXE 10,028,000 * 14 10,028
OHMHIBAES SsUHHAA 50,332,000 * 14 50,332
OA=sHE &=z 29 1,800,000& 14| 1,800
Ol RAelEdt2A XX 12,675,000 14 12,675
O2FAEISAXIIES 4,500,000& 14! 4,500
s NnMtH Sz X 34,200,000 14 34,200
OJNZSEZ XA HATHBI X 1,296,000& 14| 1,296
O&d=sgel el &g aFHH X 7,500,000& * 14| 7,500
OZ=2s FES 11,100, 000 * 14 11,100
Os&E0d ZE012UXN 2322 X 1,980,000 * 14 1,980
Oz &d STHEHE X X 5,475,000& 14! 5,475
Osgs2 28 N& 1,500, 000& 14| 1,500
Osgdidi=7(sEMAEE) 4,374,000 14 4,374
OsEdg2d HEHa 7= K& 9,000,000& 14| 9,000
OsHEMEF20IS MEss 2SNE 2,000,000 14! 2,000
OHIOtY =St KX K& 3,000,000 14! 3,000
O=0E&E MEXNZAH OIS 24 1,560,000 * 14 1,560
O=M=XS EFE2ZAY 120,000,000 14| 120,000
SMA DIt E ALY 150,000,000 14| 150,000
OtHE s LotitS otz X & ZHIM
35,000, 0003 * 14 35,000
<sYFSY > 959,211 3,005,020 22,045,809
O=10FE NESHUHSAY 24,000,000 * 14 24,000




09 i 0

500
520
521

H X2

2X3
Al - EHIEXE
Al - EHIEX

Z2-2-8-5 Off &4 & E 0l At Hr&E2
ORJIEZHlE 2Hl X& 173,400,0003 » 14| 173,400
OELMEM SS(RaE ANF) 46,525,000 » 141 46,525
O=HIAE S XN& 6,936,000 =14 6,936
OzaZd ssds TN 7,200,000& * 14| 7,200
Odadsgy sl =4 5,400,000& =14 5,400
odsad sk 2= 20,700,000& 14! 20,700
Odedsdts AS5=FAH N 10,800,000 & » 14| 10,800
O A2 EARS 240,000 14! 240
Oz adsIM X3 A 4,950,000& =14 4,950
OANEZ0eB M XA 7,500,000 =14 7,500
Oblgote A SHatAY 68,250,000 14! 68,250
OU+=Z2HH MIAE 22,500,000& 14! 22,500
Ot da XA 15,750,000 14 15,750
OSEPHEXZLE XA 9,600,000 =14 9,600
Oolatdatst & (X) XSAY 15,174,000 14 15,174
Oy d=E s LAUALMAIE XA 9,360,000& =14 9,360
OMXISESM2MEALE K& (10m) 16,875,000 14 16,875
OHI=Z2 A& XA 20,000,000 14! 20,000
OsAZIISAIE N& 15,000,000 * 14 15,000
OEXNAMNBSEESH XNE 1,500,000 * 14 1,500
OQaEsHTHE X & AL 3,645,000& =14 3,645
OtH=FAI0IAHE M= K& 3,815,000& =14 3,815
OusEEE =4 12,000,000 14| 12,000
OArE Z3ANE X& 15,000, 0003 * 14 15,000
Oted 2sdtE Suss XN 351,346,0003 » 14 351,346
OF=ZCSEZEHEH RIHY 22X 2 9,000,000& 14! 9,000
Oststdd=24 Al 1,350,000 14 1,350
OZZFEANLEH X 4,500,000& =14 4,500
OZZFE=XME £ 45,000,000& =14 45,000
Osdsctdd 241 1,650,000 14 1,650
O LHTHOHAIE &2 X X & AL 3,600,000& =14 3,600
OAMEZ0UHXIOI S =S ALY 1,395,000 14 1,395
OsS4&= HHHI XA 5,250,000 14| 5,250
< F4H > 613,040 740,899 A127,859
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60,581,000 14!

6,000,000 14|
1,440,000& 14|

4,140,000& » 14

25,200,000 14!
9,000, 000& 14|
37,640,000 14|
3,919,000& 14|
4,320,000& » 14
38,350,000 14!
7,405,000 » 14
7,826,000 * 14

750,000& =14l

252,000 =14l

2,110,000 14!

440,000 * 14!
12,000, 0008 * 14!
15,000, 0008 * 14!

6,000, 000& 14|

2,250,000& * 14|
9,000, 000& 14|

504,000& =14l
19,350,000 14|
3,000,000 14|
3,600,000 14|
9,000, 000& 14|
14,400,000 14|
2,880,000 14|

4,620,000 » 14

17,210,000 14|

14,200,000 14|

2,040,000 * 14|

38,000,000 14!

1,800,000 14|
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9,000
14,400
2,880
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17,210
14,200
2,040
38,000

1,800
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (&2 &)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OFd=sg &FHH 9,600,000& =14 9,600
OU=H IH=FEE=Xcl 22,500,000 14! 22,500
O%HIMExX OlEEE8 M2 3,000,000 =14 3,000
ORJlesse Bzl XA 33,540,000 14 33,540
OttAsE Ss=H XN 3,000,000 =14 3,000
OXZME MHHIEX =4 18,000,000 * 14 18,000
O3ZY=addgd M3l 86,175,000 14 86,175
OdgsIt 2548 K& 2,746,000 » 14| 2,746
OJ=&EEY LS 23 XN& 12,680,000 14| 12,680
OsHHga X 3,750,000 =14 3,750
OHLES AEd A 28HH XI&E 5,292,000 14| 5,292
OgM ==t 58 & NHIA X 3,480,000& =14 3,480
OS0HX EAE ol 1,800,000 * 14 1,800
O=¢tE AHIEN B 3,000,000 =14 3,000
ON=EELHMeAXNI(BEaHH 243t 6,750,000& =14 6,750
OF &I, F4& =% ZHACCPAI A 13,500,000 * 14 13,500
<SENEDY > 101,700 111,428 N9,728
O4-Hs| =4 (0lch CE0 4-Hal @ JI=E =X, SWA-HILHE
sX&) 4,200,000& » 14 4,200
OsENcHa=s4d(s22Y 28X M3, sEXNER 24
st X&) 6,100,000& 14! 6,100
OdgdIsd(sENY EEX 28) 4,400,000& 14! 4,400
OgUisJIAH=cl2dH X 9,000,000 14! 9,000
OUEsIIAH SUHAA 60,000,000 * 14 60,000
A2ESsIIH SUHAA 9,000,000 14! 9,000
OsIIAHESXHE X 9,000,000 14! 9,000
<sgl=1 > 168,968 59,093 109,875
OHZ=EY0IE a&d S dEMA AIE 7,500,000 14 7,500
OUtlsd 2EH SEx4 39,000,000 * 14 39,000
Oz0NSE Mt MAHXR 15,000, 000 * 14 15,000
Ozled & A J0eld SEYMAY
9,000,000 14! 9,000
O = It 435 AlY 4,320,000& 14! 4,320
OANE BtXi7 Ed2el &8 S 9,000,000 14! 9,000




09 i 0

500 Ex
520 A
521 Al -

Oll &F o & E 0l At Hr&E2
OH B8 3 5,148,000& *1 5,148
OXSEH3HA 80,000,000& *1 80,000
< Olch & Al OH & 2t 25,000 20,000 5,000
OXg Al 25,000,000& *1 25,000
< AQ2etdE > 20,350 18,750 1,600
O&MZatIl (A It 19,750
DAMeEdol 6,000,000& *1 6,000
> AtZ 22| X & At 4,000,000& » 14 4,000
DaROIIE HEXNE 29 9,450, 000& *1 9,450
DN = & SHEHEHE S ' 300
OoZg&oodel 600
PH=LSHURANH 27,000,000 22,450,000 4,550,000
0 Bd==E 27,000,000 22,150,000 4,850,000
711 A= 27,000,000 22,000,000 5,000,000
711-01 =AM H 2 ™ 27,000,000 22,000,000 5,000,000
[ el A ] 27,000,000 22,000,000 5,000,000
<=1 > 27,000,000 22,000,000 5,000,000
O=MNALAHS 27,000,000, 000& *1 27,000,000




